Lesson 5-1 Worksheet

LESSON 5-1
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actice and Problem Solving: A/B
10x%y°
. —15p*?
.22 a%p°®
18c°d°
.12a” + 8a - 28
. 9x° - 36x* - 27x°
. -12s° + 24s” - 60s°
. 30a° - 10a° - 5a°
. —56pr — 16p?r* + 64p°r
. 6m“n® + 2mn°® + 8m?n*
. —6x%? — 15x%y° - 27x%y*
COviWA + 12viw® — BvAw®
. —28a’h® — 7a°b” + 35a°b*
. 16p%q* - 6p’q® + 10p°q®
.a. w(w + 3) or w? + 3w
b. 28 in.?
.a. w(3w — 8) or 3w? — 8w
b. 220 cm?

Practice and Problem Solving: C
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.3x3+5x2+2§|x

- 32 - 0se
BV 4+ By

284 - 208° - 55" +6a
458

CBiAEE - TR TR
B0 - 1457y - 20
A pP 4 2P - 18P

|, 3% - 275 + 15x

b. 5% — 30 — 45x
o, 2% — 3% — BOx

Possible answer: 8a{3&°8 — 2ab);
dalfa i’ — dah) 8abl3sth - 2a);
85‘2(33;‘3'2 - 28]



Practice and Problem Solving:
Modified

328

154°

228 b

. 18c°d

4545

=185

218 + 14a- 49

2T - 3Bx - 27
=125 + 245 - BOS
L3048 - 108* - 54
=567 - 1607 + Bdip
B+ 2t - &at
—2E 4 180 - 2T
10V + 200 — 50w
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bow+5

C. W+ 5w
d. 24 in?
e. 126 in?



